201846 A
=i

—BELL, HETFOHRK

= H



11 ko&lE, dtiEs X OMFRIZEWT, #@E 1 ERIZER (FyyFR—1LV%
) 2B 15 LEOEIEG (THER) 2FL D2 DTH5S,

FENF IR | BEAY 1 X

FRRO1THAR (%)

15 A EOHEENTLT (FA)

At Vg 4,633
P 2.849

7.1
9.2

4,542
1,150

PR #RFSA T RK 28 4R 4L AR BT )

F— R IEHEMME A S h 22 LT, UTFOMWICEX &, 72720, LORD 15
LA EOHEEANTHZ ITFRAED R K HD 15 A EANTHH L LTEHEZ K.

ALHRE 2 3 1T 2 EFEROIT I H DR D 5% EHXM e LT, OO~ @ P
DLA oIt Y REDE—DHEN, | 22

(1)

1 0.071 £0.001
3 0.07140.007
6) 0.071+0.503

@ 0.071+0.004
@ 0.07140.010



(2) RO FEIFACHER & RO 2RI 35 1 D BPER 17 T # O REEE R OHEREIZ D0
TlR7=LDTH B,

(RO % Z TN

ny = 4633, p; = 0.071, N, = 4542 x 10°,
ng = 2849, po = 0.092, N, = 1150 x 10°

B <, TOL E bt & pRlUL ORI B 1 D EFEROD 17 b 0 R b A 00 HE EA
(7)) &b, ZORMGRURE (1) &85,

Xhd (7)), (1) ZHTRELZLOOMAETLLT, KOO~ E D> bh
O R D & DA, 23

@ (7) J'V]f)l -+ 4'\"2[)2 (’f ) I;] (1 - ])I) N 132(1 - ’)2)
N+ N» 1 n2

J'\I']i)] -+ 4'\"2{)2
(7 . ;
@ ) 4‘\'] + 4'\'2

1) N, 2:31(1 —z‘n) (N 2:32(1 —1‘»2)
J'\"] + 4'\"2 J\] + N. 2

® (7 p1+ e (1) 1 ml—p 1 ml-m
2 2 5
P+ P2 l
@ ) (1) 3

(7) pr+p (1) 1

1n) + 12



> TH S AREHE

BEEROEIE, 77EY




EEREDTEREL ?
(-—AIND10EDIZE

(T—51 - FHE)?+ (T 52 - FE)?+ --- +(T—510- FHIE)

10

L

#)L—kL=3 D

H
53



BRHEREDERS ?
(—AAH10EDHES

B
V10



O5%EREXHDERIL ? (FELHDES)

EHE £+ 1.96 * {EAERE



C ORBIEONT >
BEZROELEEEDBIOES

LEZEDFHE: p (BIE)
LD D8 p(1 — p)



O5%EFEXEZKED D

95%CI = V-Y)(H + 1.96 X HERR 7=

AN
n

J/0.071(1 — 0.071)
V4633

= 0.071 = 1.96X

= 0.071 + 0.007



(2]

RO SCRENEAL AR & phRLUL O RIZ 3 1) 2 BFER D17 T D RE L3 OHEE IZ D
ThR7=HDTH 5,

(RO % Z TN

ny = 4633,
ny = 2849,

EH<, oL E b & il
(7)) &b, ZORMGRURE (1) &85,

pr = 0,071, N; = 4542 x 10°,
pa = 0.092, Ny = 1150 x 10°

WL D RARIZ B 1) D BFEROD 17 )45 D Y L6 A8 O HE R

Xhd (7)), (1) ZHTRELZLOOMAETLLT, KOO~ E D> bh

O R D & DA,

®

®

(7)

(7)

(1)

(7)

(7)

(7)

2

3

J'V]f)] + 4'\"2[‘\)2
J'V] -+ 4'\"2

J'\I']i)] + 4'\"2{)2
4‘\"] + 4'\"2

oy | 0= [ =)
i ny

J'\"l ’
N 1 + 4'\"2

2
P+ Pa
2

(1)

P+ Po (1)

m(l—p.) ( N, )2132(1—;‘»2)

1
2
1
2

J\] + J\z
mlﬂ) 1pﬂ-m
2
|
1n) + 12

10



(2)

TR, DOTH 5,

[ ROBNW %2 FNhTEFh

EH<L, D&
X (7) &b, "o

)

4633

2849, po

v P

At & phRL UL o 42

ok A b

4

BT DU ELLD !

RO RN AL AT & PPELEL O ARz 3 1 A BFER D47 3 O RE L3 OHE 1z D

0.071, Ny = 4542 x 10°,
0.092. N, = 1150 x 10°

LLERO#EE

N

tEEETROEHRDOERITEE

2 BT-Ralech 2= L 2 NOUN

_ p1N1 + D2N;
Ny + N,

11



> TH S ARNE AR5k
mTIE, S, 28 ABEOTE (BER!)
ElaX + bl =aE|X]|+ b
ViaX + b] = a?V[X]
VIX] = E[X*] — {E[X]}
Cov[X,Y] = E[XY] — E[X]E[Y]
Cov(X,Y)
JVX)V(Y)

T =




SHEREZTRDDRAT— NI, DEERDD &
VliaX + b] = a?V[X]

3N, + p-N 74N >N
Vp11 P2 2]=V P11]+V[P2 2]
N; + N, N; + N, N, + N,
N,
2 ZXV'\
= ) VIR + G ) VI
Ny
2 ¢ 2 2 A
XV
= () VIR + G ) VI



FHEEODREIR | EAERE (7
R E—HTEIEDEERE

Ny
Ny + N,

IEfZ:2

)ZXV[PZ]

)AXV[p1] + (

= ( N1

Ny )2 p1(1 - P1)_I_( N; )2 p2(1—p3)
Ny + N, nq Ny + N, n,

= (

N, 2x pl(l—ﬁl)_l_( N, )2x p2(1—p2)

SE =
(Nl + Nz nq Nl + N2 no




